Lezione 5



T732 (QOL‘\;\. 37 ’53"{} fe [@"\3 e 0A8L  HXOy o\/c/k}og/m\\, 3&2/%

J T (M), +ys0y — ’\‘3~z,(S<>l,\1 #Hwo

23 = 0-5’00""’"&7 Xl—h_(.o
M%étw\s = 5-3"'5@/ = @_QDOM\X Ff-(@'ﬂ} O-Soo -3/ = O-’—\'S'om..t(q- V
4068 ¢ o B

. A &O ’ . D 4% = 3284
OO = ‘/186 '/"' W' 3 L,
0’(7@1

wd U350, = 32“% . 338 el S0, 212 - A8 wh | X
A€.0 of wih

LMW afe T ‘Ft(%ﬂ:b ECleweD A HaSly




2 Fe oWy, + b/V\ZSOL, — T (50 Ll\ L T eAO
.1 Q (:-OO 33"48 e
f _ L%&LJ*DFKOB @3‘0""“0

91 - 0 500 ml ! ><F¢2(éqbs =7 WP ‘:‘“?/&OH\3 = 0.290md

m“ﬁq_&o%a - 0.0 ?4( ‘SQ"\.ﬂj/mfv :1 A00 4 F(i(gog);(

\_— —

(¥



BAL

. 4
S'L\\ogr —2'> /).8'05 l—\lO + Y- A1040 mlL P = 5syo. L A bt
C\Ww 0O A o, T=23°Cc +Z¥\N< 2% K
ool ‘MAAA.;NW:? (\/C T
. =0 ors
M = - —— e
Q_,T 0.0gZ‘WdJ/ ql'GLG’/L( Aaﬁl&:q@ (WV\M\A—(S
M = 0 303 omd (9, = , P = — —
 Jr0sfwh < 3685 C \ Te0 Ty
m, = 020> md C* AL05 & ot
' \
e\ e = 2.\ KO :A/':'ii/-=0v¢00mw¥ .2 =[0.200 A 1 E_M
/! 9}/?{ 0,202 ¢ Vv :




- 0.20 )
(W\H' 222/ C_ :\" /\\
O
e md W = 0200 A
md O = d SG%WJ(O =
ALWWP Mc/ O%OgM/Q\
O =4
F o CéHZO Fowdo,  uuos
o~









oo = 663 Y, 7 S - 3337/

Cov,‘fnb'uomﬂ/ e \,oé,g_/



exte

AQ%/ NaO¥ L
Kome G — AL chllo 2L2g —— My & sddo 03
g Sis?/\wm-‘ Mf\CN»\? st (&“3 8/
WSW)’
| /A WeOn Me G S M= S oo ZASAY
\> /LDCX — 2,Ll/l%/ = ‘?g‘:[B, A/e" A,O%
| / = /1’6(%3/‘ ,//-\«6%
LD 2Uleg —0XKe = Au’? "t Mﬁ Aoﬁy’/dm
P\‘(;W (n €/
o — X Cw = ﬁ_&g,, s 400 = 78 7~
A0 .0

(&



l EXW'
A3 3 NALCOS t L('LCOB _—
A,’L'\}‘} CO\.&)S

X’ty :/‘\'S%/

X
. N _ /1,10??

/xp@j/w)k Ty g/ml\ A0 3/““‘(\

X =
9,65/ Y: 0:@9/




24 . ¥ /
9 4a NalL L Nabr  — uﬂﬁ?’%&z*%&n
! 2 Nall £ Po (NO3) = PO, +NanO,

b (N0,), \\
Co.u»?o;—iw i s de 2 Nab~ « Pb(HO?BL —~>:\’B%'\2_\'2_I\\OJ\\O~5

e (xey 230

WL, + &y = Ok g

7 Sigan Y e 5
\/Z// | A8 Slod 22 |
X = O,(&
A ®



XY

O o

el =0 60, tNaOW —— NaySO, ++h0
Noow 3v”'m " 0008 AL-W?
A =12 gl y o 7

N

G‘AX&O_;: O,G/L\(’@/ = 0.0o(f(m{{ A 2= 0-00f ’(\MAM
8‘@,.037,,,/(
Mwwwc-w:w/ Lw/'(?//,d - okues MW pora
o Nogye = O-oW° . 2aaze 84\ Nosth @Z L%Z(f/

— 5 0

b9 K % /f/mm
@



EXA0

/

5*’\"\‘% 20 7. W L HNO, —= \('\Wg"‘\’\/UL Noso 2 &7

/

M&BKNQ3 —

e
Aoa/ﬁmk
< T £ O hhord ,oAﬁnMﬁﬁpmumﬁﬂm}
09L%

(MH’T\(O_} PUNO = QLIQ"O% ' w’og/if% 307_5 WO PULO
——
(T“F\’NO:D d 20/, = 3@2.& ;QC/LK W3 .?_Q/,

o >

- O Llc?'o m«AH"\[O}
PUno




